CDMA2000 BTS SCBS-5191.10
Installation Manual

02.2005.

eI

ELECTRONICS



COPYRIGHT

This manual is proprietary to SAMSUNG Electronics Co., Ltd. and is protected by copyright.
No information contained herein may be copied, translated, transcribed or duplicated for any commercial
purposes or disclosed to the third party in any form without the prior written consent of SAMSUNG Electronics

Co., Ltd.

TRADEMARKS

Product names mentioned in this document may be trademarks and/or registered trademarks of their
respective companies.

This manual should be read and used as a guideline for properly installing and operating the product.

This manual may be changed for the system improvement, standardization and other technical reasons without prior
notice.

If you need updated manuals or have any questions concerning the contents of the manuals, contact our Document
Center at the following address or Web site:

Address: Document Center 2nd Floor IT Center. Dong-Suwon P.O. Box 105, 416, Maetan-3dong Yeongtong-gu,
Suwon-si, Gyeonggi-do, Korea 442-600

Homepage: http://www.samsungdocs.com

©2005_ SAMSUNG Electronics Co., Ltd. All rights reserved.

[
\ S




INTRODUCTION

CDMA2000 BTS SCBS-519L10 Installation Manual

Purpose

This manual describes the material, procedures, and methods required for installing the
SCBS-519L10 Indoor BTS.

Audience

This manual is intended for installation personnel of the SCBS-519L10.

Manual Content and Organization

This manual is composed of two chapters as follows:

CHAPTER 1. Before Installation

This chapter describes the safety rules and issues that must be understood and taken into
full consideration for installing the SCBS-519L10 system.

CHAPTER 2. Installation

Environmental Construction
Installing Accessories
Foundation Construction
Equipment Installation
Earth

Antenna Installation

Pylon Installation

Cable Installation

Basic Checks

ABBRIVATION

Describes the acronyms used in this manual.

© SAMSUNG Electronics Co., Ltd.



INTRODUCTION

Conventions

The following types of paragraphs contain special information that must be carefully read
and thoroughly understood. Such information may or may not be enclosed in a rectangular
box, separating it from the main text, but is always preceded by an icon and/or a bold title.

WARNING
Provides information or instructions that the reader should follow in order to avoid
WARNING  personal injury or fatality.

CAUTION

Provides information or instructions that the reader should follow in order to avoid
CAUTION a service failure or damage to the system.

m] CHECKPOINT

— Provides the operator with checkpoints for stable system operation.
CHECK
= NOTE

Indicates additional information as a reference.

NOTE

g OPERATION PROCEDURES

. Indicates the operational procedures that should be executed in sequence.

Revision History

EDITION DATE OF ISSUE REMARKS
00 05. 2004. First draft
01 02. 2005. Second Edition

1] © SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L10 Installation Manual

SAFETY CONCERNS

For product safety and correct operation, the following information must be given to the
operator/user and shall be read before the installation and operation.

Symbols
f} Caution
Indication of a general caution

Restriction

%,

Indication for prohibiting an action for a product

Instruction
Indication for commanding a specifically required action

© SAMSUNG Electronics Co., Ltd. n



SAFETY CONCERNS

A\ WARNING

Adjust the height of ladders
Adjust the height of ladders to prevent falls.

Workers During Operation

When workers install power cables in a small area, do not apply excessive force.
You may bump against a wall or equipment.

Fire and Burn

Do not place inflammable materials near the system.

> B B P

Cautions when connecting trunk cables

To reduce risk of fire, use AWG No. 26 or a larger one as a trunk line.

«

Electric Shock

Do not touch electronic devices or equipment with watered hand. That causes
electric shock.

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

/\ CAUTION

Not to Damage Cable

If power cable is pulled forcibly when installed, the sheath of the power cable may
be damaged. Special caution should be taken.

Caution When cleaning rack

Be careful not to damage the cabling when cleaning a rack.

Caution when cleaning power equipment

Be careful not to interrupt power supply when cleaning a rack.

Moisture

Since equipment can be corroded by moisture, maintain the equipment in dry
condition.

Dust

Dust may interrupt the operation of an adjacent system during job in a building.

Caution for pulling off FAN-P

Since FAN-P(POWER AMP UNIT) weighs about 10 kg, the FAN-P should be
pulled off with caution

Damaging Building

When equipment is carried, take special caution not to damage building.

Do Not Leak Water

If the water is leaking to a ground, insulation will fail in the place. Thus, do not
leak water when performing leveling by a vinyl hose. Additionally, the vinyl hose
should not be broken off or stepped on.

> B> B B BB B P

© SAMSUNG Electronics Co., Ltd. \%



SAFETY CONCERNS

Using the crane

An extra person should assist the operation of a crane, and the crane should not
be overloaded.

%,

Short circuits due to the metals

74
- &

Make sure short circuits do not occur due to metals such as watches and rings.

No single-handed process

Major processes should not be performed single-handedly.

Using luminaries when installing lights

Use sufficient luminaries when installing lights to prevent the ceiling from sagging
or lighting equipment from falling.

Cautions for storing paint

Beware of fires since paints are inflammable, and seal leftover paints for storing.

When Working with Power Cables

Turn the power off before working with power cables to prevent injuries, rack
damages, and electrical shock to related cables

@ © © 0

Wear protective gloves and glasses

@

Wear protective gloves and glasses when making holes on walls or ceiling.

Wear earplugs

Wear earplugs in noisy areas where cutting machines, drills, or grinders are used.

Wiring cables

In order to wire power cables, connect the grounding cable first before connecting
other cables to prevent equipment damages and injuries.

© @

\ © SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

Measuring Insulation Resistance of Extension Rack
G Use a sheet of insulation paper between the existing rack and the extension rack
to perform insulation between the racks. Then, measure the insulation resistance

of the extension rack for operating equipment. This is to prevent signaling flows
from affecting the existing rack.

Storing Racks
G Racks should be kept in more secure place at regular intervals so that no falling
oceurs.

When Power Cable is Connected

Check the polarity before connecting power cable in order to prevent the risk of a
fire caused by reverse polarity.

© SAMSUNG Electronics Co., Ltd. Yl



SAFETY CONCERNS

[

This page is intentionally left blank.

Vil © SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L10 Installation Manual

TABLE OF CONTENTS

INTRODUCTION |
0o T P PERRT |
J 0 Lo 1T o Vo PP PPPPUION |
Manual Content and Organization..............c.ccoi it e e saeee e |
(7] 1)Y= g1 1T =T PSPPSR Il
REVISION HISTOTY ...t s e e e e e Il
SAFETY CONCERNS 1l
SYMDOIS .ttt b ettt Il
LT T a1 Vo PRSPPI \
(7= 101 i o] o H PRSPPSO SPRP \
CHAPTER 1. Before Installation 1-1
1.1 Cautions for INSTAIALION ......ccciiiiee e e e e e e et e e e ente e e e e neeeeennnenas 1-1
1.2 Cautions for Handling UNITS .......ceoiiiiriiiiie et e e e et e e e a et eaeennnee s 1-2
1.3 Tools and Materials for INSTAllation ..........coiciieiiiiiie e e e es 1-3
1.3.1  TOOIS fOr INSTAllAtION .....ooiiiiieieie e e e e e st eeeeeeas 1-3
1.3.2  Materials for Installation ...............coooiiiiiiiiii e 1-6
1.4 SAFELY MEBASUIES ...ttt ettt ettt e ettt e e e bttt e e st e e e e eabb e e e e bbbe e e sabbe e e s anbeeeeaanas 1-10
1.5 Cautions in CONSTIUCTION SIte....cciiiiiiiiiiiiiie e e e r e e e e e st rreaeeeeas 1-11
1.6 Static Electricity Prevention
1.6.1  Damage Prevention ............ooo ittt
1.6.2 Causes oOf StatiC EIECHCIY ......cocuuiieieiie e 1-12
1.6.3  Damage VOIAGE.....ccoouiiieiiiiee ettt ettt 1-12
1.6.4  ENvIronmMeENt and POWET ...........uuiiiiiiiiiiiiiieiie ettt s e e e e e eeeeeeas 1-13
A O 1= T4 11 o T TP O PRSP PSP PPPPPP PRI 1-14
CHAPTER 2. Installation 2-1
2.1 Environmental CONSTIUCTION ...uiviiiiiee e ciie e siie et e et e e e s e e st e e e ntae e e s aaeeessneeeeennsaeees 2-1
211 BaASIC WOTK ...ttt ettt e e e e e e e e e e e e e e e e aarraaaeae e aaanas 2-1

© SAMSUNG Electronics Co., Ltd. IX



TABLE OF CONTENTS

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.1.2  Light INSTallation .........eiiiiee e 2-2
0 TG R ©7o - 1 [ To IR UPUPPUPPPUPPPPNY 2-3
2.1.4 Installing Conducted LiNOIEUM ........c.coiiiiiiiiii e 2-3
INSTAIIING ACCESSOTIES ....eiieiiiiie ettt ettt e e st et e e bbbt e e e bt e e e e aabe e e e e sbnneeeannneenne
2.2.1 Installing Cooler

2.2.2 Installing Halon Fire Extinguishing System ...........ccccooiiiiiiiiieiiie e 2-4
FouNdation CONSTIUCTION ..c...iiiiiiiiii ittt e e 2-5
P B I Y/ F- 14 ({3 T TSP PP PP UPPPPOY 2-5
2.3.2  Drilling @nd ANCNOTING .....ocueiiiiietee ettt 2-8
2.3.3  Installing Cable HOIES .........cccooiiiiiiiiii e
2.3.4  Installing Cable RACKS ........cocoiiiiiiiii e
2.3.,5 Cable Rack Connection and Finishing

EqUipmMent INSTATAtION ......ooiiiiiiiii e 2-24
2.4.1  Carrying and Unpacking EQUIPMENt .........coiiiiiiiiiiiiiee e 2-24
242 RACK SEIUP ...ttt 2-28
2.4.3  HaNdING BOAIAS .......ccueiiiiiiiiiiie ettt ettt et 2-33
2.4.4  PoSsting EQUIPMENT......ooiiiiiieiie ettt ettt s e e e e e anneee s 2-33
2.45 Installing and TYiNG Cabl.........c.iiiiiiiiiiiiiee e e 2-33
- 1 o DS POTPPUTP PP 2-33
251 Earth MethOd ..o e 2-33
2.5.2  Installing Earth FACIlity ........cocooeiiiiiiiiiicee e 2-33
ANENNA CONSITUCTION L.t 2-33
2.6.1  INSTalliNg ANTENNA ...ttt ettt e e e s e e e eaneea s 2-33
2.6.2  ANEENNEA POSHING ..ottt 2-33
Installing Feeder INStallation ...........ooi i e 2-33
2.7.1  Searching Feeder Path...........cccciiiiiiiiiiii e 2-33
A O1¥ 14T TN == [ O PE 2-33
2.7.3  INStAllING FEEAET ......eiiiiiiiiiiiie ettt 2-33
2.7.4 Checking Feeder CONNECHION ........c..uiiiiiiiiiiiii et snaeee e 2-33
2.7.5 Installing Identification Tag.........c.couiirriiiiiieiie e e 2-33
CONSEIUCTING IFON TOWEK ...ttt ettt ettt e bt e e st e e e e eibe e e e e be e e e s anneeaaanes 2-33
2.8.1  Measuring LOCALION ........ccueiiiiiiiie ettt 2-33
2.8.2  Iron Tower Constructing ProCeAUIe ............coiuiiiiiiiii it 2-33
INSTAIIING CADIE ... e s 2-33
2.9.1  Power Device Installation..............ccoiiiiiiiiiii 2-33
2.9.2 Connecting TruNK Cable .........coouiiiiiiiiiiiiie e 2-33
2.9.3 Al CabI ..o e e 2-33
2.9.4  EXPOSEA PIPE.....uiiiiiiiiie ittt 2-33

© SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

2.10 Test fOr INSLAlAtION .ocecieiiiiieie e e e e e e e e e e e st reeeeeeeeessntnraeeeeeens 2-33
ABBREVIATION XXX
[ 2 ORI XXXIII

LIST OF FIGURES

Figure 2.1 Drawing a Perpendicular Reference Line...........ccccooiiriiiiiiiiiiiiicnneecee 2-6
Figure 2.2 Drawing Adjoint line from the Pillar...............cccoiiiiiiiiiii e 2-6
Figure 2.3 Drawing Extension Lines According to Rack Layout ............cccoccveeiiiiiiiniieneninee. 2-7
Figure 2.4  Checking Marking...........cooiuiiiiiiiiii ettt et 2-8
Figure 2.5 Drilling @nd ANCNOMING ......cieiiiiiiiiiiie et 2-9
Figure 2.6 Cable Hole SIrUCIUIe ...........coiiiiiiiiiic e 2-10
Figure 2.7 Installing Cable Rack t0 CeiliNg..........coouiiiiiiiiiiiiiicieceee e 2-12
Figure 2.8 Installing Cable RaCk 0N FIOO..........ccoiuiiiiiiiii e 2-13
Figure 2.9 Installing Cable Rack Using Triangle Support Bracket ..........c.cccovoeeeiiiiiiniinnnne 2-14
Figure 2.10 Installing Cable Rack Using Wall Support Bracket .............c.ccceveeeniiiiieinieennn. 2-15
Figure 2.11  Vertical Wall Support for Cable RaCK............ccccocuiiiiiiniiiiiec e 2-16
Figure 2.12 Installing Upper/Lower Curved Cable Rack.............ccccoiiiiiiiiiiiiees 2-17
Figure 2.13 Installing 2-Level Cable Rack

Figure 2.14 Cable Rack Level Change...........coouiiiiiiiiiieee e
Figure 2.15 Horizontal Cable Rack CoNNECtION............coiiiiiiiiiiiiiieie e 2-20
Figure 2.16 Vertical Cable Rack CONNECHION ...........coviiiiiiiiiiiiieciee e 2-21
Figure 2.17 Connecting Cable Racks of Different Widths..............cccooiniiiiinine, 2-22
Figure 2.18 Cable Rack FiniShiNG .........cccoiiiiiiiiiie e 2-23
Figure 2.19 Rack Package Configuration.............cccooieriiiiiiiiiiiie e 2-25
Figure 2.20 Exploded View of Rack Package...........cocceiiiiiiiiiiiiiicii e 2-27
Figure 2.21 Configuration Diagram of the RacK ...........ccccceeiiiiiiiiiiiiii e 2-28
Figure 2.22 Door Detachment Diagram............cccoouiiriieiieiniie e 2-29
Figure 2.23 Method of Detaching DOOr HINGE .........ccoiiiiiiiiiiiie e 2-30
Figure 2.24 Detailed Diagram of Front Bottom of Rack...........c.cccecuiiiiiiiniiicie e 2-31
Figure 2.25 Detachment Procedures for Preparing ANChoring ..........ccccoovivieiiiiiiiiniiceenns 2-33

Figure 2.26 Anchoring Location (When Installing a Supporter for Preventing Earthquake).. 2-33

Figure 2.27 Anchoring Location (Normal FIOOr)..........cccceciiiiiiiiiiiiieieee e 2-33
Figure 2.28 Layout of Supporter for Preventing Earthquake ..............cccccoeiiiiiiiiiiiniiiieees 2-33
Figure 2.29 BaKelite LayOuUL.........cooouiiiiiiiie e 2-33
Figure 2.30 Leveling by VINYI HOSE ........viiiiiie e 2-33
Figure 2.31 Leveling by @ PIUmD ......ooooiii e 2-33

© SAMSUNG Electronics Co., Ltd. Xl



TABLE OF CONTENTS

Figure 2.32
Figure 2.33
Figure 2.34
Figure 2.35
Figure 2.36
Figure 2.37
Figure 2.38
Figure 2.39
Figure 2.40
Figure 2.41
Figure 2.42
Figure 2.43
Figure 2.44
Figure 2.45
Figure 2.46
Figure 2.47
Figure 2.48
Figure 2.49
Figure 2.50
Figure 2.51
Figure 2.52
Figure 2.53
Figure 2.54
Figure 2.55
Figure 2.56
Figure 2.57
Figure 2.58
Figure 2.59
Figure 2.60
Figure 2.61
Figure 2.62
Figure 2.63
Figure 2.64
Figure 2.65
Figure 2.66
Figure 2.67
Figure 2.68
Figure 2.69
Figure 2.70
Figure 2.71

Insulation Test MOdel ..o 2-33
Rack Extension Posting Chart ............coceiiiiiiiieiiiciieeee e 2-33
Connection Diagram when Rack is Extended............cccooceeniiiiiiiicniiciieeee 2-33
Cable WOTK FIOW.......c..oiiiiiiiiiiiie et

Cable 1dentification Tag...........eie i

Basic KNOL...... ..o

Tying String CONNECHION ......ouiiiiiieiiieiie et

Device for Removing Insulation Sheath
Wrapping MEethod...........ooiiiiiiiiie e
Examples of Inferior Wrapping.........ccooueeiiiiiiiieeeceee e
USING UNWEGPPET ...eiiiiitee ettt ettt ee e sttt e e e et e e e snbe e e s enbeee e s snneeaaanes
CoNNECHNG SOl ....coiiiiiiiiiie e s
Driven Rod CoNStrUCHION ..........coieiiiieiieiene e e
San Earth Typical Installation.............cccoiiiiiiiii e
San Earth Strap Installation .............cooiiiii e
MGB INStallation..........ooiuiiiiiei e
Indoor BTS Rack Earth .........cc.oooiiiiiii s
RACK GroUNGING .....coueeiiieeiiiieet et ettt
BulkHead ASSEMDIY .........coiiiiiiic e
Antenna Feeder Cable Grounding ..........c.coiieieiiieiiiniiesiee e
Connecting Ground Wire 0N TOWET .......cc.ueiiuiieiiiieiieeiiee et
SECLOr ANTENNG ...ttt
OMNIEANTENNG ... e e
Antenna Posting Method............cooiiiiiiiiiic e
Connecting Feeder CONNECON ...........ccoiiiiiiiiiiec e
Connecting Feeder of INdoor BTS ........uoiiiiiiiiiiiie et
Feeder Port on the Upper Part of Rack
Arrester Connection DIagram ............ccuieiiiiiieaiiee e
Connecting GPS Cable.........cooiiiiiiiiiiee e
GPS Antenna Assembly Diagram ..........ccoooeiieiiiieeiiiiie e see e ee e
FiXing GPS ANENNG.......oiiiiiiiieee et e e
Power Device Configuration Diagram ...........ccocoeeeeiiiiieeniiiiie e
Connecting BTS Power Cable .........c.ccoiiiiiiiiiiiiie e
Power Terminal Assembly Diagram ..........cccccoooiiiiiiiie e
Rectifier Cable Diagram ............coouiiiiiiiiiii et
Power Terminal Caution Label ............ccccoiiiiiiiiiiii e
BTS Trunk Cable CONNECHION ........c.cooiiiiiiiieiiicie e
Trunk Cable Connector Diagram ..........ccccoiiiaiiiiiii e

DDF Cable Diagram.........cccueoiiiiiiiiiieeiee ettt

RJ-45 Jack Configuration Diagram ..........c.ccceivieriiiiiiiniieeee e

Xl

© SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

Figure 2.72 UDA Cable CONNECHION .........oiiiiiiiieiiiiee e 2-33
Figure 2.73 Rectifier Alarm Cable Connection Diagram ...........cccooouieiiiiniiniieenie e 2-33
LIST OF TABLES
Table 1.1 Cause and Voltage of Static EIECtriCity...........cccorvuiiriiiiiiiiiieieeee e 1-12
Table 1.2 Damage Voltage due to Static EleCtriCity .........ccccceriiiiiiiiiiiiiice e 1-12
Table 2.1 TGB Location and Method of Connecting to Iron Tower Grounding Cable ........... 2-33
Table 2.2 Connecting Tower Ring Grounding Cable..............ccociiiiiiiiiiniieiece e 2-33
Table 2.3 Number of Antennas According to the Antenna Types ........ccccevviieiiiniiniic e 2-33
Table 2.4  Antenna Lag-DiStanCe ............ooo i 2-33
Table 2.5 Feeder Connection Port for Each System............ccooiiiiiiiii e 2-33
Table 2.6 Feeder Identification Tag.........cooiiiiiiiiiii e 2-33
Table 2.7 Considerations According to Iron Tower Location .............cccoeouiiiieeniiieniiniieceee 2-33
Table 2.8 Concrete CUMNNG PO .......c...oiiiiiiiiiiieiiie et 2-33

© SAMSUNG Electronics Co., Ltd. Xl



TABLE OF CONTENTS

[

This page is intentionally left blank.

XIV © SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L10 Installation Manual

CHAPTER 1. Before Installation

1.1 Cautions for Installation

Adhere to the following safety instructions when installing the SCBS-519L10 system to
prevent accidents.

Before Starting Installation

*  Post warning signs in areas where high-voltage cables are installed.
* Post restriction signs in areas where accidents are most expected.

*  Use guardrails or fences and block open areas such as connecting parts, roof, and
scaffold.

*  Remember the locations and usage of fire alarms and fire extinguishers.

*  Check the locations of the emergency exits.

During Installation

* An extra person should assist the operation of a crane.

*  The crane should not be overloaded.

*  Power must be cut off before starting the installation.

*  Wear protective gloves and glasses when making holes on walls or ceiling.

* Do not wear accessories such as watches and rings in order to prevent electrical shock.

After Completing Installation

e Use hard covers and cover the cable holes drilled on the floor.

* Remove the debris and clean the surrounding area.

© SAMSUNG Electronics Co., Ltd. 1-1



CHAPTER 1. Before Installation

1.2 Cautions for Handling Units

All units of SCBS-519L10 are composed with highly integrated electronic components.
Handle the units carefully to prevent static electricity.

Static Electricity Prevention
Be careful not to cause static electricity when handling the system or a unit.

CAUTION  Otherwise, the system or unit may be damaged by static electricity.

When Mounting or Replacing Units

Wear wrist straps and ground the straps before touching a unit.
Grab the faceplate or the stiffener when holding a unit.

Do not touch electrical elements or connectors with your hands.
Check if the connector pins are normal before mounting a unit.

Place a cover over unused optical connectors to protect the connector from dust.

When Storing Units

Unused units must be packed inside anti-static vinyl bags.
Do not place a unit on top of another.

Keep units away from materials that easily generate static electricity such as plastic,
acryl boards, paper, and Styrofoam.

When Transporting Units

Units should be kept inside anti-static vinyl bags when being moved.

1-2

© SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

1.3 Tools and Materials for Installation

1.3.1 Tools for Installation

The standard tools for indoor BTS installation are as follows:

NO Category Tool Name Specification Number

1 Driver Driver(-) 4 x 100 mm -
5.5x75mm -

6 x 200 mm -

10 x 250 mm -

Driver(+) 1 x75 mm -

1 x 150 mm -

2 x 150 mm -

4 x 250 mm -

Nut driver(Nut Driver Set) 6/7/8/9/10(mm) -

Fist driver No.660 -

2 Hammer Hammer 146.001 -
Rubber hammer 166.022 -

Medium-sized steel hammer | 3 Kg -

PVC hammer Normal -

3 | Bit Drill bit set 29 BONJO -
Drill bit set 8 mm -

10 mm -

12 mm -

12.7 mm -

6 mm -

Concrete bit 8 mm -

10 mm -

Hilti bit set 10 mm -

12 mm -

16 mm -

Wrapping bit & sleeve 0.65 mm -

© SAMSUNG Electronics Co., Ltd. 1-3



CHAPTER 1. Before Installation

(Continued)

NO Category

4 Regular Tools

Tool Name Specification Number
Adjustable angle wrench 12 Inch -
8 Inch -
4 Inch -
Diagonal Plier 6 Inch -
4 Inch -
Plier 8 Inch -
Diagonal cutting Plier 6 Inch -
4 Inch -

Vice grip pliers

6 NAP 56 10 inch

Open wrench set

6 PCS

Ring wrench set 6 PCS -
Box wrench 1/2 Inch -

1/4 Inch -
Hacksaw frame Normal -
Hacksaw blade HIS -
High speed cut-off blade 14 Inch -
Tool box Large -

Medium -
Tap set 3/4/5/6(mm) -

Sexangular wrench, pcs/set

1.5/2/2.5/3/4/5/6(mm)

5 Electric Tools

Power extension cable

30m

Power multi tab

Electric iron(220 V) 30~130 W -

Transformer(Slidacs) 3 kW -

Large vinyl tape 80 mm x 70 m -

Large rubber tape - -

6 Leveling Tools Level 930-9 -
Plumb bobs 500 g -

Angle finder 600 -

Center punch No.10 -

7 Ruler Tape measure 5m -
50 m -

‘71’-shape ruler 300 mm -

1-4

© SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

(Continued)

NO Category Tool Name Specification Number
8 Cabling Tools Hand wrapping & unwrap 0.65 mm -
GTLA connector extraction GTLA -
tool
Cable cutter 325 mm -
Ladder L1, M2, S2 -
Gloves, 10 pcs/1set Cotton -
Half Rubber Coating -
Silicon gun Normal -
Silicon Gray -
Safety helmet Normal -
Light for construction 220V -
Lamp 220 V/40 W -
Fire extinguisher ABC -
Lantern 6V -
Vacuum cleaner Normal -

Tools and Materials Used

— Other tools and materials available on site may be used.
CHECK

© SAMSUNG Electronics Co., Ltd. 1-5



CHAPTER 1. Before Installation

1.3.2 Materials for Installation

No Description Specification Unit | Q'ty
1 Power Cable Grand Bracket Ass’y W:130, D:45.4, H:100, Al 2t, Medium Set -
(4Hole) Gray
2 | Power Cable Grand Bracket Ass’y W:130, D:45.4, H:100, Al 2t, Medium Set -
(2Hole) Gray
3 | Carry Handle M12, ZPC, L:140, D:25 EA -
4 | Pressure Terminal(2Hole) 60 mm? Hole Dist:16 mm, Hole d2:6.3 | EA -
5 | Pressure Terminal(2Hole) 38 mm? Hole Dist:16 mm, Hole d2:6.3 EA -
6 | Pressure Terminal(2Hole) 38 mm? Hole Dist:17 mm, Hole d2:6.3 | EA -
7 | Hex. Bolt M6 x 20L, Brass EA -
8 | Spring Washer d2:6.3, Brass EA -
9 | Plane Washer d2:6.3, Brass EA -
10 | Base Bakelite Plate 700 x 600 x 3t, Asetal(White) EA -
11 | Earthquake Frame Support Ass’y W:700, D:600, H:100, Steel, M16X35, Set -
ZPC3 Include
12 | 600V CV Cable(Red) CV Cable 60 mm? x 1 C(Red) m -
13 | 600V CV Cable(Black) CV Cable 60 mm? x 1 C(Black) m -
14 | 600V CV Cable(Red) CV Cable 38 mm? x 1 C(Red) m -
15 | 600V CV Cable(Black) CV Cable 38 mm? x 1 C(Black) m -
16 | Ground Wire GV 38 mm?x 1C m -
17 | Ground Wire GV 100 mm* x 1C m -
18 | Pressure Terminal 100 mm? EA -
(2Hole, Dist.45mm)
19 | Pressure Terminal 60 mm? EA -
(2Hole, Dist.45mm)
20 | Pressure Terminal 38 mm? EA -
(2Hole, Dist.45mm)
21 | Pressure Terminal(Square 1Hole) 38 mm?, d2:7, W:15, EA -
22 | Pressure Terminal Cap(Red) 60 mm? EA -
23 | Pressure Terminal Cap(Black) 60 mm? EA -
24 | Pressure Terminal Cap(Green) 100 mm? EA -
25 | Pressure Terminal Cap(Red) 38 mm? EA -
26 | Pressure Terminal Cap(Black) 38 mm? EA -
27 | Pressure Terminal Cap(Green) 38 mm? EA -
28 | MGB Ass’y 350 x 100 x 7t, Insulator Set -
29 | Hex. Bolt M8 x 25L, Brass EA -
30 | Hex. Bolt M8, Brass EA -
31 | Plane Washer(Brass) D:8.3 EA -

1-6

© SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

(Continued)

No Description Specification Unit | Q'ty
32 | Spring Washer(Brass) D:8.3 EA -
33 | Hex. Bolt M10 x 35L, (Brass) EA -
34 | Hex. Bolt M10, Nut EA -
35 | Plane Washer(Brass) D:10.3 EA -
36 | Spring Washer(Brass) D:10.5 EA -
37 | Heat Shrink Tube D:28 mm, (Black, Jelly Type) m -
38 | Rubber Tape Black EA -
38 | Silicon(White) White EA -
40 | Tie Wrap(Black) 208mm(Pack for 100EA) Pa -
41 | Tie Wrap(White) 100mm(Pack for 100EA) Pa -
42 | Tying String 9Line 170 m, White, 230 g EA -
43 | Vinyl Tape Black EA -
44 | Vinyl Tape Red EA -
45 | Wrist Strap KS-1058, 9Ft EA -
46 | Trunk Cable Form Ass’y -2 1E1, RG-179, 20 m, BNC Conn, Set -
Rx/Tx
47 | Horizontal Clamp 120 x 15 x 6.5t, Flange Bolt/Nut EA -
48 | Corner Bracket Clamp 55 x 55 x 15 x 6.5t, Flange Bolt/Nut EA -
49 | Cable Rack 300 mm x 2000 L x 6t EA -
50 | ‘U’ Type Angle 300 mm EA -
51 | Anchor Bolt Ass’y M12 x 100 L Set -
52 | Threaded Rod(Stud Bolt) M12 x 2000 L, ZPC3 Set -
53 | Connection Nut(Muff) M12 x 50 L EA -
54 | Plane Washer ID:12.3(Zn Coating) EA -
55 | Spring Washer ID:12.3(Zn Coating) EA -
56 | Insulator Bushing M12, L:1.5(Ceiling) EA -
57 | Hex. Nut M12, ZPC3 Set -
58 | ‘J’' Bolt M 6 x 52L, 6t, Ni Set -
59 | Hex. Nut M 6, Ni PIt Set -
60 | CRK End Rubber(Black) Rubber 19 mm x 47mm EA -
61 | Anchor Bolt Ass’y M10 x 100L EA -
62 | Insulation Bushing M10, L:1.5, Asetal, White EA -
63 | Insulation Bushing M10 L:1.5, Asetal, White EA -
64 | Rack Top Threaded Rod M10 x 1000L, ZPC3 EA -
65 | Hi-PVC Pipe 16 mm x 4 m(Gray) EA -
© SAMSUNG Electronics Co., Ltd. 1-7



CHAPTER 1. Before Installation

(Continued)

No Description Specification Unit | Q'ty
66 | Threaded Rod End Cap 212 x 15 EA -
67 | Hex. Nut M10, ZPC3 EA -
68 | Spring Washer D:10.3, ZPC3 EA -
69 | Plane Washer(Brass) D:10.3, ZPC3 EA -
70 | Hex. Bolt M4 x 25L, Brass EA -
71 | Hex. Nut M4, Brass EA -
72 | Spring Washer D:4.3 EA -
73 | Plane Washer(Brass) D:4.3 EA -
74 | Earth Braid Kit 5.5 mm x 12L(Ring Type) EA -
75 | CRK Wall Support Angle 300 mm EA -
(323 x38 x 38 x 3t, Dist:270 mm)
76 | Wall Support Bakelite Plate 300 mm(320 x 36 x 3t, Dist:109 mm) EA -
77 | ‘U Type Angle(Rack Top) L:700 mm, Dist:620 mm EA -
78 | ‘U’ Type Angle(Rec. Top) 850 mm, Dist:750, Rec. EA -
79 | ‘U Type Angle-1(Rec. Top) L:700 mm, Dist:600, Rec. EA -
80 | GPS Antenna GA1575A, ACE EA -
81 | GPS Cable LMR-400, Microwave m -
82 | GPS Arrester 3402.17 K, Huber & Suhner EA -
83 | GPS Arrester Capsule Gas Filled Type, Huber & Suhner EA -
84 | Connector N-Mail Conn. N-Mail, LMR-400 EA -
85 | TNC Male Connector -50dB -50dB, LMR-400 EA -
86 | GPS Antenna Fixing(Mount Type) | H:1.5m, D2:25.4, Bakelite EA -
87 | GPS Antenna Fixing(Wall Type) H:1.5m, D2:25.4, Bakelite EA -
88 | GPS Fixing Clamp(Wall Type) F/B 50 x 6t, D:50 Hole:14, L:152, ZINC EA -
89 | Stainless Rod(Rod Type) H:3m, D2:25.4, Bakelite EA -
90 | GPS Antenna Fixing Pipe Center:40, M10 x 60L, ZINC Set -
91 | Anchor Bolt Ass’y M8 x 70L, STS EA -
92 | GPS Name Plate 70 x 50 x 2t(English) Set -
93 | 1/2" Feeder Cable SCF 1/2-50J(Inside) m -
94 | N-M(1/2")Connector N-Male For SCF 1/2(Inside) EA -
95 | 1/2" Feeder Cable LCF 1/2" Cu2Y-50Q(RFS, Outside) m -
96 | 7/16 DIN-F Connector(1/2") 155 655 10(RFS, Outside), BN71 03 45 EA -
97 | 7/16 DIN-Mail for LCF(1/2") 155 654 10(RFS, Outside), BN71 03 45 EA -
98 | Antenna Jumper Cable Kit 1/2" 2m, Harness Ass’y Set -
Harness
99 | 7/16 DIN-FM(7/8")Connector Din-Female For LCF 7/8" EA -

1-8

© SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

(Continued)

No Description Specification Unit | Q'ty
100 | 7/16 DIN-Male Connector(1/2") DIN-Male For SCF 1/2(Inside) EA -
101 | 7/16 DIN-Male Connector(7/8") DIN-Male For LCF 7/8" EA -
102 | 7/8" Feeder Cable LCF 7/8-50 J m -
103 | Cold Shrink Kit 7/8"+1/2"(3M-CXS-2) EA -
104 | Ground Kit For(7/8") 7/8" Ground Kit Set -
105 | Silicon Sealing Plast 2000, RFS, 20ccm EA -
106 | Bulk Head(7/8") 350 x 99 x 160(H&S) Set -
107 | Ram Clamp Ass'’y 30 x 40 x 30 x 4t, 7/8" 3EA Set -
(RF Cable, 3Hole)
108 | Ram Clamp Ass’y 30 x 40 x 30 x 4t, 7/8" 2EA Set -
(RF Cable, 2Hole)
109 | Roxtec Wall Type(7/8") EA -
110 | Roxtec Window Type(7/8") EA -
111 | Feeder Cable(1 5/8") LCF 1 5/8" Cu2Y-50 Ohms, 152 122 11 m -
(RFS)
112 | Connector DIN-Male(1 5/8") 7/16 DIN-Male for LCF 1 5/8", EA -
155 754 02(RFS)
113 | Connector DIN-Female(1 5/8") 7/16 DIN-Female for LCF 1 5/8", EA -
155 755 02(RFS)
114 | Ground Kit for(1 5/8") Ground Kit for 1 5/8" 155 797 51 Set -
115 | Cold Shrink Kit(1 5/8") 1 5/8"+1/2"(3M-CXS-2) EA -
116 | Silicon(1 5/8") Sealing Plast 2000, RFS, 70 ccm EA -
117 | Bulk Head(1 5/8") 440 x 200 x 160, Brass Set -
118 | Roxtec(1 5/8") Wall Type(1 5/8") EA -
119 | Roxtec(1 5/8") Window Type(1 5/8") EA -
120 | Ram Clamp Ass’y 30 x 40 x 30 x 4t, 1 5/8" 3EA Set -
(RF Cable, 3Hole)
121 | Feeder Line Name 70 x 50 x 2t, Al Set -
Plate(English)
122 | Arrestor(3400.41.0121) 1885~2200 Mhz, 1700 W, DIN-F/DIN-F EA -
123 | Copper Bar(IGB) 310 x 50 x 5t, Cu EA -
124 | Copper Bar(TGB) 410 x 50 x 5t, Cu EA -
125 | Hex. Bolt(STS) M8 x 25L EA -
126 | Hex. Nut(STS) M8 EA -
127 | Spring Washer(STS) D:8.3 EA -
128 | Plane Washer(STS) D:8.3 EA -
129 | Antenna Fixing Pipe(GAL) @ 60.5 x 4t H: 3m EA -
130 | Antenna Pipe Fixing ‘U’ Bolt(GAL.) | M12 x 112L, Center:76 EA -

© SAMSUNG Electronics Co., Ltd.

1-9



CHAPTER 1. Before Installation

1.4

Safety Measures

Observing Safety Regulations

Abide by safety rules to avoid safety hazards during installation.

Sanitation

The working area should be kept clean to maintain the sophisticated work environment.

First Aid

If an injury occurs due to an accident during installation, take emergency measures using
first aid medicines at the site, and if necessary, transport the injured to a hospital for
treatment.

Safety Accident Prevention

¢ Open areas such as connecting parts, roof, and scaffold should be blocked using
guardrails or fences.

¢ Warning signs should be attached to guardrails, steps, and doors.

» Facilities where safety accidents are expected should be set as restricted areas.

e Cable holes on the floor should be covered with hard covers.

e Wear protective gloves and glasses when making holes on walls or ceiling.

*  An extra person should assist the operation of a crane.

e The crane should not be overloaded.

e Install lighting to optimize the working environment.

¢ Do not step on or apply excessive force on cables.

*  Know the locations and usage of fire alarms and fire extinguishers.

¢ Check the location of the emergency exit.

e Make sure short circuits do not occur due to metals such as watches and rings.

e Major processes should not be performed single-handedly.

e Adjust the height of ladders to prevent falls.

e Wear earplugs in noisy areas where cutting machines, drills, or grinders are used.

1-10

© SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

1.5 Cautions in Construction Site

Heating and cooling should be thoroughly managed to maintain proper temperature and
humidity in the equipment room, and power supply should not be interrupted to prevent
delay of testing. All racks and equipment should be precisely set horizontally and vertically
and should be firmly installed.

Material Check

Based on the construction plan, thoroughly check the quantity of materials, whether they
conform to standards and if any of them are damaged. The AC/DC power cables,
fluorescent lamps, emergency lights, switches, and electrical conduits for light installation
should conform to standards and electrical properties.

Administrative Issues

» Site access: If the construction site is a restricted or limited access area, take proactive
measures so that construction personnel have no problem accessing the construction
site.

» Consultations: In relation to existing facilities, issues regarding connection work and
test scope should be consulted with the execution office and operation office before
construction.

© SAMSUNG Electronics Co., Ltd. 1-11



CHAPTER 1. Before Installation

1.6 Static Electricity Prevention

1.6.1 Damage Prevention

When handling items sensitive to static electricity, abide by the following rules to avoid

damaging elements of circuit boards:

¢ Wear grounded wrist straps when handling a circuit board.

e Circuit boards should be kept away from materials that generate static electricity, such

as plastic, acrylic board, paper, and styrofoam.

e Circuit boards should be stored in antistatic boxes.

*  The humidity within the equipment room should always be 40~70 %.

1.6.2 Causes of Static Electricity

Factors of man-caused static electricity and the generated voltage are as follows:

Table 1.1 Cause and Voltage of Static Electricity

Cause Average Voltage Generated(V)
Walking a linoleum floor 5, 000
PCB wrapped in styrofoam 5, 000
Removing a bubble plastic cover from a board 20, 000
Walking a carpet floor 15, 000
Ceramic DIPS wrapped in styrofoam 5, 000

1.6.3 Damage Voltage

Damage voltage of each element due to static electricity is as follows:

Table 1.2 Damage Voltage due to Static Electricity

Element Damage Voltage(V)

MOSFET 100~200
JFET 240~10, 000
CMOS 250~2, 000
TTL 250~2, 000
Bipolar TR 300~2, 500
ELC 500 or higher
SCR 680~1, 000

1-12

© SAMSUNG Electronics Co., Ltd.



CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

1.6.4 Environment and Power

The following environmental conditions and power requirements must be met to guarantee

stable operation of the system.

Temperature and Humidity

Item Specification Standard
Temperature 0~50 °C(optimum temperature: °C) GR-63-CORE-Sec.512
Relative humidity 5~95 %(optimum humidity: %) GR-63-CORE-Sec.512

Power

Item

Specification

DC Input Voltage

+26 VDC(+21 VDC~+30 VDC)

© SAMSUNG Electronics Co., Ltd.

1-13



CHAPTER 1. Before Installation

1.7 Cleaning

Cleaning should be thoroughly executed to remove dust and other substances from the
equipment room. During construction, the floor, entrance, and corridors of the equipment
room should be frequently cleaned.

Cleaning should be executed according to the following steps:

1) First cleaning: Execute after rack installation

AHE: ——HOIXl LI I|—
—H| Ol Al U5 I —

[ 1]
B2 . . N
8 | 2) Second cleaning: Execute after cabling and distribution
3) Third cleaning: Execute after installation test
4) Fourth cleaning: Execute at site opening
Caution when cleaning rack
Be careful not to damage the cabling when cleaning a rack.
CAUTION
Caution when cleaning power equipment
Be careful not to interrupt power supply when cleaning a rack.
CAUTION
5
1-14 © SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L10 Installation Manual

CHAPTER 2. Installation

2.1 Environmental Construction

Environmental construction refers to a preparatory process before moving equipment into
the BSC site, which includes installing partition walls and lighting, flooring conducted
linoleum and finishing the painting job.

Environmental construction is conducted according to the following steps:

1) Basic work

2) Lighting work

3) Painting work

4) Installing conducted linoleum

2.1.1 Basic Work

Ceiling Repair

Polluted or damaged ceiling texes should be replaced with new ones made from the same
material as existing ones. Gaps between texes should be minimized, and gaps greater than
2 mm should be caulked with silicon. Electrical conduits penetrating the ceiling and areas
around the duct should also be caulked with silicon. Zinc-coated screws should be used for
fastening the texes, and the gaps between the screws should be approximately 150 mm.
M-Bar should be used for a light-weight ceiling, and out-of-shape or corroded channels
should not be used.

Caulking

Caulking refers to filling in and compressing gaps caused by cracks or junctions,
and is normally used in borders of chassis or lines of glass blocks.

NOTE

© SAMSUNG Electronics Co., Ltd. 2-1



Window Sealing

Before sealing windows, decide whether to install window for the entire surface of the wall
or to use a light-weight partition wall for the window. If the size of the window exceeds
40 % of the entire wall surface, install a full-size partition wall for efficiency.

e Full surface installation: For two or more large-size windows
e Partial surface installation: For leased buildings or common windows

»  Exception: Exclude glass block windows and reflection windows

Before installing the partition wall, seal the existing window with silicon after glass coating
to block rainwater. After installing the partition wall, seal the wall for the last time. For full
surface installation, environment should be considered when coating the glass.

2.1.2 Light Installation

Install two fluorescent lamps or relocate existing lights to increase the luminance to at least
300 LUX for the equipment. On the ceiling of the windproof room, install a sensor lamp
that operates automatically by detecting movement.

Light installation is subject to the material of the ceiling as shown below:

*  Down light: When tex is furnished

¢ Ceiling light: When the direction does not match that of tex or when the ceiling is
made of block boards

Using luminaries when installing lights

Use sufficient luminaries when installing lights to prevent the ceiling from sagging
cAuTIoN  or lighting equipment from falling.

Emergency Light

This should be lit upon power failure manually or automatically for at least 30 minutes.

Take following cautions when installing an emergency light.

¢ Power outlet should be exposed.

¢ Emergency light should be installed at the front of the equipment within the office.
¢ Users should be able to bend the emergency light to all directions.

*  The emergency light should be installed at 1800 mm from the floor.

2-2

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

2.1.3 Coating

Remove oil, dust, dirt or other pollutants from the target surface and perform coating on

even corner parts. Apply putty if the surface is uneven. For metallic surfaces, remove rust,

apply anticorrosive paint, and coat the surface with ready mixed paint.

NOTE

Putty

Putty is used for installing window glass, for coating boards, and for fixing iron
tube joints. Generally tempered with oil varnish or lacquer, putty is used to even
the surface before painting. Putty tempered with oil is used for filling holes or
cracks when mounting window glass onto the pane or during painting.

A

CAUTION

Cautions for storing paint

Beware of fires since paints are inflammable, and seal leftover paints for storing.

2.1.4 Installing Conducted Linoleum

Installation of conducted linoleum is subject to the installation area as follows:

* Leased building: Install conducted linoleum up to 0.9 m around the equipment.

However, install sufficiently for sites where extension is expected.

*  Container: Do not install conducted linoleum where conducted tiles are installed over
the access floor, but only repair damaged parts. However, conducted linoleum should

be installed in sites floored with non-conductive tiles.

e Self-owned building: Install conducted linoleum on the entire floor of the equipment

room.

The procedure for installing conducted linoleum is as follows:

- [n

1) If'the floor surface is not even or if the flooring becomes loose, even the surface and
remove the loosed area.

2) If existing floor is made of tiles, apply silver paper to junction parts.

3) Install linoleum. For flooring that requires conducted wax, apply the wax 2 times.
4) Install copper tape(20 mm 0.07 t) every 1 meter, and coat parts connected to walls.
5) To earth conducted linoleum, solder GV 14 mm?*(AWG 6) and connect to the Main

Ground Bar(MGB). Install two or more copper tapes to prevent disconnection.
6) Use AL molding for earth cable finishing.

© SAMSUNG Electronics Co., Ltd.

2-3



2.2 Installing Accessories

This section describes procedures on installing additional devices, such as cooler and fire
extinguishing devices, required for operating and maintaining the BSC.

2.2.1 Installing Cooler

The room temperature of the BSC office should maintain 25 °C. Temperatures higher than
35 °C may cause device failures.

Installing Indoor Device

Install two indoor coolers to the right and left side of the BSC. The coolers should be
installed where there are no obstacles blocking the circulation of cold air released from
above. Install the lower part of an indoor cooler in a leveled area to support easy drain, and
install a vibration-proof pad to prevent vibration.

Installing Outdoor Device

When installing an outdoor device on the roof or on the veranda, install the device far away
from, not forwarded to, the neighboring building.

2.2.2 Installing Halon Fire Extinguishing System

A halon fire extinguishing system automatically extinguishes fire by detecting heat or
smoke and releasing halon gas. The halon equipment should be installed in a location
where the gas can be evenly distributed and in an open area. In addition, the cooler wind
should not be released directly to the equipment, and the wiring should be interlinked to the
ventilating fan so that the fan stops when the equipment is activated.

The procedure for installing a halon fire extinguishing system is as follows:

g 1) Install package

8 | 2) Install control board
3) Install detector
4) Install audio alarm system
5) Install manual switch box
6) Install gas release indicator lamp
7) Interlink equipment
8) Install conduit
9) Wiring and piping

2-4 © SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

2.3 Foundation Construction

During foundation construction, the reference line is determined, marking and drilling are

performed, and the cable rack is installed before installing cables and equipment into the
BSC office.

The procedure for constructing foundation is as follows:

g 1) Marking: Mark the exact location where the system should be installed.
# ] 2) Drilling & Anchoring: Drill a hole in the ground and fix a rack by using the anchor bolt.
3) Installing cable rack: Install a cable rack used for fixing cables such as power cables
and earth cable feeders.
2.3.1 Marking
Marking refers to marking the location of the equipment, cable rack hole, and the location
of the anchor bolt, indicated on the floor plan, to the floor, walls, and ceiling. Measure the
actual size of the equipment room and the location of pillars, and mark the reference points
according to floor plan to mark the locations where racks should be installed.
The procedure for marking the floor is as follows:
g 1) Draw a reference line with a chalk based on the length of the equipment.
8 | 2) Draw a perpendicular line on the reference line.
3) Mark both line ends of the rack column with a chalk.
4) Draw the rack’s front line and rear line with a chalk based on the reference line and
end line of the rack column.
5) Mark the corner of the rack, location of the anchor bolt, name and number of the rack
with a marking pen.
6) Mark the location of the cable hole.

2.3.1.1 Drawing a Perpendicular Reference Line

g] Y
8
2
3)
9
)

Mark a reference point, ‘A’, on the floor that indicates a standoff distance from the
rack side to the wall.

Draw a reference line, ‘a’, parallel to the wall and passing the reference point ‘A’.
Mark a reference point, ‘B’ over the reference line ‘a’, at three units away from the
reference point ‘A’

Draw the circumference within four-unit radius on the basis of the reference point ‘A’,
and draw the circumference within five-unit radius on the basis of the reference point ‘B’.
Mark the point where the two circumferences meet as reference point ‘C’.

Connect point ‘A’ and point ‘C’ to draw the perpendicular reference line.

© SAMSUNG Electronics Co., Ltd. 2-5



XX Unit

When the unit is cm, xx unit represents xx cm, and when the unit is mm, xx unit
NOTE represents xx mm. For example, 3 units where the unit is mm represent 3 mm.

Perpendicular
reference line

Al ik

Figure 2.1 Drawing a Perpendicular Reference Line

2.3.1.2 Drawing an Adjoint Line from a Pillar

1)
2)

o

3)
4)
3)

6)
7)

Draw a reference line from the pillar in one direction.

Set random points, ‘A’ and ‘B’, on the reference line. The distance between A and B
should be at least 2 m.

Draw circumferences reaching a fixed radius(a) from points ‘A’ and ‘B’.

Draw an adjoint line that adjoins both circumferences.

Set random points, ‘C’ and ‘D’, on the adjoint line. The distance between the point ‘C’
and the point ‘D’ should be at least 2 m.

Draw circumferences with the radius(a) from points ‘C’ and ‘D’.

Draw an adjoint line that adjoins both circumferences drawn based on points ‘C and ‘D’.

....................................................... Adjoint line

Reference line

\ A B
iMlar

Adjoint line

Figure 2.2 Drawing Adjoint line from the Pillar

2-6

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

2.3.1.3 Rack Marking

2
8 the front panel.

2) Mark the front reference line by drawing a horizontal line starting from the reference

point.

3) Fora 700x600 equipment, draw as many adjoint lines as the number(‘n)of racks to be

7] 1) Check the direction of the equipment and mark a reference point on the right side of

placed in a single row at every 710mm distance, including the 10mm distance between
racks. The last adjoint line should match the end line of the row.
4) Mark the four points of the 710x600 rectangle.

There should be enough space in front of the equipment to let the door open.

——10 mm Distance(110° Angle)

1411

Wall

Front Reference i ]

Point

600
\ —f -
1281
Door

Front Reference

Line

700 10 700

~

Figure 2.3 Drawing Extension Lines According to Rack Layout

© SAMSUNG Electronics Co., Ltd.

2-7



Checking Marking

Measure the length of the diagonal line in the rack installation area and check if d1=d2.

d1

d2

Figure 2.4 Checking Marking

2.3.2 Drilling and Anchoring

Drilling refers to making a hole in the ground to fix a rack to the ground using anchor bolts.
Anchoring refers to inserting and fastening the anchor bolt in the drilled hole.

2.3.2.1 Drilling

Holes should be drilled at locations marked on the office floor. Drill 70 mm(2. 75”) deep
holes using 22 mm(0.86") bit. Make sure that the wing of the anchor bolt is firmly pressed
to the concrete when inserting the anchor bolt to the drilled hole. Depending on the office
circumstances, the anchor bolt might not be used.

2.3.2.2 Anchoring

1) Drill a hole on the marked concrete surface. The size and depth of the hole should
comply with the specification of the anchor bolt. The horizontal and vertical distances
between the bolts should each be at least 50 mm and 100 mm.

2) Insert the anchor bolt into the drilled hole.

3) Fasten the anchor using the flat washer, spring washer, and nut, in that order.

4) As the nut is tightened, the anchor bolt moves toward the bottom part of hole and the
anchor bolt is widened towards the outside, fastening the anchor bolt to the hole.

oz

2-8 © SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L10 Installation Manual/Ed.01

Anchor Bolt Nut
= ring Washer
: Plane Washer

(M12 Anchor-

Bolt case) Anchoring completion

Figure 2.5 Drilling and Anchoring

M12

'\\ M represents mm and is used for specifications of bolts, nuts, and washers.

NOTE For example, M12 nut means that the effective diameter is 12 mm. Effective
diameter is the radius of a circle connected by middle points between the outer
and inner diameters.

Outer diameter

Effective diameter

Inner diameter

© SAMSUNG Electronics Co., Ltd.



2.3.3 Installing Cable Holes

Drill a hole on the concrete and install a cable hole angle set to wire cables through the
floor or ceiling. Cable holes should be installed on the floor or on the surface of a wall.

1) For floor installation, drill a hole according to specifications in the drawing and install
8 a seating on the bottom surface of the floor.

2) For wall installation, drill a hole according to specifications in the drawing and install
the cable rack.

3) The floor or wall surface where cables holes are installed should be well plastered and
painted.

4) Finish the installation by covering the top of the seating and holes on the wall with
silicon.

Nut(M12)
Insulation Bushing

Seating - | ™
Spring Washerf//(' \
) F  Plane Washer — : ) Bolt(M12)

Spring Washer
— Plane Washer

Plane Washer
= E'F?_i/Spring Washer
\\Bolt(M12)

Insulation Bushing

Figure 2.6 Cable Hole Structure

2-10 © SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

2.3.4 Installing Cable Racks

Install cable racks according to the floor plan using floor brackets, triangle brackets, and
wall brackets, considering future extensions.

2.3.4.1 Installing Cable Rack to Ceiling

Follow the procedure below to fasten a ladder type rack to the ceiling:

g 1) Mark the ceiling, drill holes, and insert and fasten anchor bolts into the holes.
8| 2) Connect U-Channels to the anchor bolts.

3) Use insulating bushings, washers, spring washers, and nuts to connect suspension bolts
to the U-channels.

4) The length of a suspension bolt is 2 m, and can be extended using a muff.

5) Use insulating bushings, washers, spring washers, and nuts to connect the U-Channels
to the bottom ends of the two suspension bolts.

6) Mount the cable rack on the U-Channels, and fasten the rack using ‘J’ bolts and flange nut.

I~ Ceiling
| Detail ‘A
Muff

Detail ‘B’
Cable Rack

+ Anchor Bolt(M12x100L)
Plane Washer
/ Spring Washer
/ U-Channel
=

Nut

Eibh way
™

Insulation Bushing
Plane Washer

Spring Washer
Nut(M12)
Stud-Bolt(M12x2000L)

Detail ‘A’

© SAMSUNG Electronics Co., Ltd.

2-11



Nut(M12)——
Spring Washer—————
lane Washer

Insulation Bushing———_

Plane Washer

Spring Washer
Nut(M12)

Detail ‘B’

J-Bolt(M6)

Stud-Bolt
(M12x2000L)

—— Cable Rack

———— U-Channel
% Flange Nut(M6)

Figure 2.7 Installing Cable Rack to Ceiling

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

2.3.4.2 Installing Cable Rack on Floor
£ 1) For vertical installation, connect the ends of the cable rack with the floor brackets by

=]
9 using horizontal connectors.

2) Use flat washers, spring washers, and nuts to connect the floor brackets with anchor
bolts inserted to the floor.

Fixing Angle
Vertical Cable Rack / Nut(M12)

— Spring Washer

— Plane Washer
'/* Insulation Bushing

Horizontal Clamp

Anchor Bolt(M12)
Bakelite

®

L2

Detail ‘A’

Detail ‘A’

Figure 2.8 Installing Cable Rack on Floor

© SAMSUNG Electronics Co., Ltd. 2-13



2.3.4.3 Installing Cable Rack on Walls

.

Using a Triangle Support Bracket

Specification of a triangle support bracket is subject to the specification(extent) of the cable rack.

1) Connect a triangle bracket to the anchor bolt inserted into the wall. Insulate the bracket
using an insulating board and bushing.
2) Mount a ladder type cable rack on the triangle bracket and fix the rack with a ‘J” bolt.

'/> Detail ‘B’

= _

— J-Bolt(M6x52L)

Cable Rack

Bakelite

Anchor Bolt

Insulation Bushing

Plane Washer Bakelite

Spring Washer

Hex. Nut

Flange-Nut(M6)

Detail ‘A’ Detail ‘B’

Figure 2.9 Installing Cable Rack Using Triangle Support Bracket

2-14

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L10 Installation Manual/Ed.01

Using a Wall Support Bracket

Fix the end of the cable rack to the wall as shown below to prevent the rack from shaking.
The cable rack can be fixed to the wall using a wall support bracket. The specification of a
wall support bracket is subject to the specification(extent) of the cable rack.

1) Fix the wall support bracket to the anchor bolt inserted into the wall. Insulate the
B bracket using an insulating board and bushing.
2) Mount the cable rack on the bracket and fix the rack with a ‘J” bolt.
The cable rack should be horizontally balanced.

——— Cable Rack

Nut(M12) Wall Support Bracket

Bakelite

Anchor Bolt(M12x114L)
Spring Washer

Plane Washer
Insulation Bushing

— J-Bolt(M6x52L)

Flange Nut(M6)

Figure 2.10 Installing Cable Rack Using Wall Support Bracket

© SAMSUNG Electronics Co., Ltd. 2-15



8

Vertical Wall Support

D)

2)

Fix mounting brackets to anchor bolts inserted into a vertical wall. Insulate the
mounting brackets using insulating boards and bushings.

Connect a vertical cable rack to the mounting brackets using bolts, insulating bushings,
flat washers, spring washers, and nuts.

Nut(M12)
Plane Washer

— Bolt(M12)

Spring Washer

Detail ‘A’

Anchor Bolt(M12)

Bakelite
Fixing Angle
Detail ‘A’

Detail ‘B’ ‘

Insulation
Bushing
Plane Washer

Spring Washer
Nut(M12)

Detail ‘B’

Figure 2.11 Vertical Wall Support for Cable Rack

2-16

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

2.3.4.4 Installing Curved Cable Rack

When wiring cables to upward/downward 90° vertical directions, assembly and install
curved cable racks to the upper and lower sections to increase the curvature radius.

1) Connect the upper curved cable rack to the ladder type cable rack using a connection bar.
2) Fix the ladder type cable rack to the cable hole angle set using a mounting bracket.

Execute the above steps for the lower curved cable rack.

Fixing Angle

Horizontal Clamp

Fixing Angle

Figure 2.12 Installing Upper/Lower Curved Cable Rack

© SAMSUNG Electronics Co., Ltd. 2-17




2.3.4.5 Installing 2-Level Cable Rack

Connect two cable racks as shown below:

Horizontal Clamp
Cable Rack

/ Stud-Bolt
/ J-Bolt

Figure 2.13 Installing 2-Level Cable Rack

2-18 © SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

2.3.4.6 Changing Cable Rack Elevation

Use a 45° connection bar and clamp to change the height of the cable rack. Level change
clamps are used with flange nuts and bolts to connect two cable racks of different levels.

Horizontal Clamp
Flange-Bolt(M6)

45°Connection
Bar Support

Nut(M5) / Flange-
Z  Nut(Me)

\ "\ Bolt(M5x20L)
45° Connection Bar

Spring Washer

Plane Washer
Detail ‘A’ Detail ‘A’

Figure 2.14 Cable Rack Level Change

© SAMSUNG Electronics Co., Ltd. 2-19



2.3.5 Cable Rack Connection and Finishing

The procedure for connecting cable racks is as follows:

2] 1 Apply horizontal connectors above and beneath the cable rack connecting sections.
8 | 2) Fasten the connectors to the rack using flange bolts and flange nuts.

3) Use bolts, washers, and nuts and install the earth kit.

Nut(M5) —
Spring Washer —
Plane Washer \

P

Horizontal Clamp

—/— Flange-Bolt(M6)
|
-

Earth Kit

Bolt(M5X20L) /J'
Flange-Nut(M6)

Figure 2.15 Horizontal Cable Rack Connection

2-20 © SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L10 Installation Manual/Ed.01

Vertical connection of two cable racks is described below:

1) Apply vertical connectors to the upper and lower connecting parts of the two racks.
8 | 2) Fasten the connectors to the rack using flange nuts and flange bolts.
3) Use bolts, washers, and nuts and install the earth kit.

Cable Rack

Flange-Bolt(M6) Corner Clamp

Earth-Braid

“\ Flange-Nut(M6)

Figure 2.16 Vertical Cable Rack Connection

© SAMSUNG Electronics Co., Ltd. 2-21



Use vertical connectors and horizontal connectors to connect two cable racks of different
widths.

Corner Clamp

Horizontal Clamp

Figure 2.17 Connecting Cable Racks of Different Widths

2-22

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L10 Installation Manual/Ed.01

Finishing
Install a bar and fasten the bar using a vertical connector or cover the end section with a
rubber caps.

Finishing Using Bar

Corner Clamp

Finishing Using Rubber Cap

(

Rubber Cap

Figure 2.18 Cable Rack Finishing

- | AAE: —HIOIX LHE D]

© SAMSUNG Electronics Co., Ltd. 2-23



2.4 Equipment Installation

o

The procedure for installing equipment ahead of earth is as follows:

1) Carrying and Unpacking Equipment
2) Rack Installation

3) Circuit Pack Treatment

4) Equipment Arrangement

5) Cabling

2.4.1 Carrying and Unpacking Equipment

The operator should check if proper materials and goods are brought and if their quantities
are correct according to the installation plan. AC power cables, DC power cables, switches,
and conduit tubes should be selected for installing the system and lighting according to
each standard. The operator should notify the workers movement in advance so that the
workers can be allowed to go in and out the target office freely. In addition, the operator
should discuss with departments of implementation and operation for an existing
communication system and interface.

2.4.1.1 Equipment Delivery Rule

Permissible shock level while equipment such as racks and materials is moved is as
follows:

Packed Rack

Weight(kg) Falling Height(mm)

Less than 450 300

Unpacked Materials

Weight(kg) Falling Height(mm)
0~10 100
10~25 75
25~50 50

50 or More 25

2-24

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

2.4.1.2 Bringing Equipment

Equipment should be brought while taking the cautions below:

* Regarding their weights and sizes, check the path to bring the equipment. Iron and
veneer boards are required to carry them through stairs and doorsills smoothly.

*  Prepare protective materials and fix them with tape to prevent the floor of entrance, walls
and the ground of an office from damages when bringing the equipment to the office.

*  When boards are carried, they should be packed. When the boards are performed

installation tests, the package should be unpacked.

e When the PBAs are carried, they should be packed. When mounted, the PBAs should
be unpacked.

NO. DESCRIPTION QTY

N

Cover, Box Triwall 1

Box Triwall 1

Cushion, Top

NN

Cushion, Bottom

Pallet

N

Rubber Plate(t5.0)

N

Bracket, Side

Guide, Bracket Side

Hex Bolt, M12

O | O ([N | |oa | |wW]|N

=N

Plane Washer, M12

sla|n|NnN

RN
N

Spring Washer, M12

Figure 2.19 Rack Package Configuration

Damaging building

When equipment is carried, take special caution not to damage building.
CAUTION

© SAMSUNG Electronics Co., Ltd. 2-25



Storing Racks

Racks should be kept in more secure place at regular intervals so that no falling
CAUTION  occurs.

Vibration Standard

When the system is moved, fasten the system firmly not to exceed the proper vibration
level from 1 to 500 Hz.

Follow the instructions below when installing equipment:

e System racks must be installed on a concrete floor in a location where external access
is limited.

¢ Circuit packs and modules shall be installed on the system rack accurately.

*  Since the rack is not equipped with a protective device against DC integrated devices,
installation of a rectifier should be considered to protect against 190 A for A/B path
and against 139 A for C path.

2.4.1.3 Unpacking Equipment

Procedure for unpacking the equipment is as follows:

a 1) Unpack the equipment until the equipment is carried to the installation place.
8] 2) Classify and store the equipment according to the job specification. Thus, the
equipment should not interrupt the job.
3) Install the equipment just after being unpacked. If the equipment cannot be installed
promptly, keep the equipment in the corresponding place temporarily.
Moisture
Since equipment can be corroded by moisture, maintain the equipment in dry
CAUTION  condition.
4) Remove just the outer cover without unpacking the equipment.
5) Arrange and unpack the equipment in the target place.
6) Stack other materials in a specific place and return them to the operation department.
Dust
Dust may interrupt the operation of an adjacent system during job in a building.
CAUTION
2-26

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

/ Cover(Box-Triwall)
/ Cushion-Top

Box-Triwall

Package Complete

/7 Cushion-Bottom(Box-Triwall)

’ Guide-Bracket(Side)

Bracket-Side
Spring Washer

. i ‘\* Hex Bolt(M12)
Plane Washer

/7 Pallet

Figure 2.20 Exploded View of Rack Package

© SAMSUNG Electronics Co., Ltd. 2-27



2.4.2 Rack Setup

The configuration diagram of the racks in Indoor BTS is shown below:

TOP VIEW

Air-Vent

: 1/0 Panel

Power-Input Eye-Bolt Inter-Cable Hole

»|

1800

FRONT VIEW RIGHT VIEW DOOR OPEN

Figure 2.21 Configuration Diagram of the Rack

2-28 © SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L10 Installation Manual/Ed.01

The rack should be installed with caution to prevent against damage such as scar or

breakdown according to the procedures shown below:

2.4.2.1 Door Detachment

Earth Braid
Detail ‘A’

Detail ‘B' — Door-Hinge

Detail ‘A’

Detail ‘B’

Figure 2.22 Door Detachment Diagram

© SAMSUNG Electronics Co., Ltd.

2-29



Follow the steps below to detach the door:

1)
2)

3)
4

5)
6)

Pull back the door.

A Earth-Braid is installed at the top of the door hinge. Unfasten the nut and washer by
using a spanner and detach the Earth-Braid.

Two hinges exist on the door. Hinges are located in the rack frame and door. Each
hinge on the door has a latch. Set the door hinge to the unlock position.

Grab both sides of the door with both hands.

Close the door a little and move the door to the right to detach the door from the frame.
To fasten the door, perform the procedures above in the opposite order.

The figure below shows procedures for detaching the door hinge from the door:

=

Il

{

1) Remove the plane washer, 2) Remove internal pressure 3) Hinge Latch Locking status
spring washer, and nut terminal and disassemble
from the Door Earth-Braid the Earth-Braid

4) Lower the latch to Unlock status ~ 5) Detach the door from the frame.  6) Latch Unlock status

Figure 2.23 Method of Detaching Door Hinge

2-30

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L10 Installation Manual/Ed.01

2.4.2.2 Rack Installation

Follow the steps below to install the rack:
The SEMS Screw of the intake cover is fasten in the front of the rack.

1) Unfasten four SEMS Screws by using a driver.

@oe

2) Intake cover is stuck in the stud; thus, the cover can be pulled off only to the front side.
Pull off the cover.

3) Four captive screws exist at the top, bottom, left, and right on the front of the fan tray.
Unfasten the screws in the same method as ‘2)’.

4) Three cables(power cable, alarm cable, and bonding terminal) are connected to the

front left of the fan tray. The power cable and alarm cable are connected by a latch-
type connector; therefore, disconnect the cables with a hand.
The bonding terminal is connected by the quick disconnector. Disconnect the terminal
with a hand.

5) Grab the knob at the center of the fan tray and pull off the rack to the front slowly.
To assemble a rack, perform the procedures above in the opposite order.

FAN-P(Power Amp Unit)

Bonding Cable

Detail ‘A’

LEETTIRTTET

TRTRTRTRY
s AT TR

Detail ‘A’

Figure 2.24 Detailed Diagram of Front Bottom of Rack

© SAMSUNG Electronics Co., Ltd. 2-31



SEMS Screw(4ea)

Intake Cover

2) Pull out the intake cover.

2-32

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L10 Installation Manual/Ed.01

Screw(4EA)

Bonding Block

Alarm Cable

Captive

Power Cable

3) Pull out the power/alarm cable connectors and the bonding
block from the FAN-Tray.

]

re
/

—

—
—F
—

Il.f';"e"l"

—r
=
—¥

T

4) Remove the captive screws holding the FAN-Tray.

© SAMSUNG Electronics Co., Ltd.

2-33



2-34

Front Anchoring
Part(2Point)

Tray-Handle

5) Grab the handle of the FAN-Tray and pull the
tray out carefully.

= v

|+
ke
l ﬂ Rear
Anchoring Part
L —T1
TE -/'/-/'/_A ’7 (2Point)
/

6) Check the anchoring locations at the lower section
of the rack.(Two on front panel and two on rear panel)

Figure 2.25 Detachment Procedures for Preparing Anchoring

CAUTION

Caution for pulling off FAN-P

Since FAN-P(POWER AMP UNIT) weighs about 10 kg, the FAN-P should be
pulled off with caution

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L 10 Installation Manual/Ed.01

2.4.2.3 Anchor Fastening

Fastening Anchor on Raised Floor

Follow the steps below to fasten an anchor on raised floors:

)

L [

2)
3)

4)
5)
6)

7)
8)

9)

10)

Check the holes for rack fastening located on the bottom of the dismounted FAN-P
tray(two on front panel and two on rear panel).

Insert an M 16 anchor bolt into the drilled hole.

Fasten the four corners of the a supporter for preventing earthquake on the anchored
spot.

Fasten the supporter on the anchored spot by using the plain washer, spring washer,
and nut.

Place four bakelites on the supporter based on the anchoring hole of the spot where the
rack will be placed.

Insert the M16 insulation bushing into the placed bakelite to fit the center of the
anchor bolt.

Stand the rack and place it upright and slow on top of the anchor bolt.

Insert a stud bolt into the frame anchoring hole at the bottom of the rack to be
connected to the bakelites and supporter.

Fix the stud bolt on the frame at the bottom of the rack by using the M 16 insulation
bushing, plain washer, spring washer, and nuts.

Fix the stud bolt at the bottom of the supporter by using the M 16 insulation bushing,
plain washer, spring washer, and nuts.

Fastening Anchor on Normal Floor

Follow the steps below to fasten an anchor on normal floors:

1)

L [

2)
3)

4)
3)

6)
7)

Check long holes(two on the front, two on the back) for fixing racks at the bottom of
the dismounted FAN-P tray.

Insert the M 16 anchor bolt into the drilled hole.

Place a rubber plate on the floor to fit it into the anchoring hole at the bottom of the
rack.

Place four bakelites on the rubber plate based on the anchoring hole where the rack
will be placed.

Insert the M 16 insulation bushing into the placed bakelite to fit the center of the
anchor bolt.

Stand the rack and place it upright and slow on top of the anchor bolt.

Fix the rack on the anchor bolt of the frame at the bottom of the rack by using the M16
insulation bushing, plain washer, spring washer, and nuts.

© SAMSUNG Electronics Co., Ltd. 2-35



Rack Bottom Frame

Bakelite

Detail ‘A’
Earth-Quake

Plane Washer(d2:16.3)

Spring Washer(d2:16.3)
\ f Insulation Bushing(d2:16.3)

Hex, Bolt(M16)

Rack Bottom Frame

Bakelite
= — Earth-Quake
Anchor-Bolt
(M16x100L)
Insulation Bushing%d2:16.3)
Spring Washer(d2:16.3)

Plane Washer(d2:16.3)
Hex, Nut(M16)

Detail ‘A’

Figure 2.26 Anchoring Location (When Installing a Supporter for Preventing Earthquake)

© SAMSUNG Electronics Co., Ltd.




CDMA2000 BTS SCBS-519L10 Installation Manual/Ed.01

Follow the steps below to fasten an anchor on a common floor:

Hex. Nut(M16)

Spring Washer Bakelite

Insulation Bushing

Plane Washer
Insulation Bushing

Rubber Plate

] Anchor-Bolt
Assembly(Top) Assembly(Bottom) (M16x100L)

Hex, Nut(M16) 220

Plane Washer(d2:16.3)
Rack Bottom Frame Spring Washer(d2:16.3)

Insulation Bushing(d2:16.3)
Bakelite
Rubber-Plate

Anchor-Bolt
(M16X100L)

Insulation Bushing(d2:16.3)

Figure 2.27 Anchoring Location (Normal Floor)

© SAMSUNG Electronics Co., Ltd. 2-37



700
57.65 584.7 57.65
o 350 350
¥
R
9}
0
o [ [
| |
(@) g (@] (@)
R I I ) B b
. | |
o [ [
N
(@}
1o — T8 — [~ &
(o]
2 4-950 L47@22
* 100 500 100
o
f. \ \
\ A
PLOt C—100x50x5t
C—100x50x5t
o — - —( o= — 1| —
| |
| |
& S
| |
‘ -y
A — :{T}:— | —

AMHE: 